V02-Key

Course in Semantics - Ling 531 / 731
McKenzie - University of Kansas

Build the following verb phrases (Just build up to VP).

1. [ It rained yesterday |

VP
/\
VP AP

|
Ve yesterday

rained

PM: (s,t)
Aeg. rained(e) & yesterday(e)
Ae € Ds. rained(e) = 1 & yesterday(e) = 1

NN : (s,t) NN : (s,t)
Aeg. rained(e) Aes. yesterday(e)

LT: ‘<s, t)

Aes. rained(e)

2. [[Jen ran hard ]| (set aside degrees for hard)

VP

T

VP AP

BN —
DP VP hard
Jen |

VO
ran

3. [[Jen liked Kenny]|
VP

DP VP

Jen TN
Ve DP

liked  Kenny

PM: (s,t)
Aes. ran(Jen)(e) & hard(e)
Ae € Dg. ran(Jen)(e) = 1 & hard(e) = 1

FA: (s,t) NN : (s,t)
Aes. ran(Jen)(e) Aes. hard(e)

FA:e NN: (e, st)
Jen  AxcAes. ran(e)

|
LT: (e, st)

AXeAes. ran(e)

FA: (s, t)
Aes. liked(Kenny)(Jen)(e)

FA:e FA : (e, st)
Jen AyeAes. liked(x)(Kenny)(e)
LT: (e, (e, st)) FA:e

AXeAyeAes. liked(x)(y)(e) Kenny



4. [Kenny met Jen on the beach |

VP PM: (s, ¢)
/\ Ae;. met(Jen)(Kenny)(e) & on([ the beach ])(e)
VP PP
/\ P
DpP VP pe DP
Kenny V"/\DP o the beach FA: (s,1) FA : (s,t)
met  Jen Aes. met(Jen)(Kenny)(e) Aes. on([ the beach ])(e)
/\ LT: (e, st) FA:e
IEA e AV FA : (e, st) AXxeAes. on(x)(e) [ the beach |
enny YW@) = x € C[ beach(x) |
LT: (e, (e, st)) FA:e

AXeAyeAes. met(x)(y)(e)  Jen
5. [It rained on the beach |

VP PM: (s,t)
/\ Aes. rained(e) & on([ the beach ])(e)
VP PP Ae € Ds. rained(e) = 1 & on([ the beach ])(e) = 1
‘ T
Ve pe DP
rained on < _—T T~
the beach NN: (s, 1) FA: (s,)
Aes. rained(e) Aes. on([ the beach ])(e)
|
LT: (s,t)
Ae;. rained(e) LT : (e, st) FA:e
AXeAes. on(x)(e) [ the beach ]

= 1x € C[ beach(x) ]

6. Figure out what It means in the following;:

(1) Jen fell and it, surprised me.

N



